<1 CAREER POWER

AN I1IT/IIM ALUMNI COMPANY

Q1. The ratio of cost price and selling price 25 : 26. The percent of profit will be
T T A AT T T AqUT 25 1 26 §. ATH BT TTALT G

(a) 26%

(b) 25%

(c) 1%

(d) 4%

Q2. A shopkeeper buys a product of Rs. 150 per kg. 15% of product was damaged. At what price
(per kg) should he sell the remaining so as to earn a profit of 20%?

T THHIR 150 T ST BRI &1 Ieare @diear 8. Sad 15% S AT g & Qv i1 fava=r 3o (afa fBm) «
9T AT = a8 20% FT AT FHT T6h?

(a) Rs. 218(13/17)

(b) Rs. 207(13/17)

(c) Rs. 225(13/17)

(d) Rs. 211(13/17)

Q3. Mr. Kapur purchased two toy cycles for Rs. 750 each. He sold these cycles, gaining 6% on one
and losing 4% on the other. The gain of loss percent in the whole transaction is
ST YL el 750 T F <Y e areft arsfrer @dear &, ag ¥ 1 arefoe 999 € s us 1w ag 6% a9
31 37T UX 4% BT AT AT 8. T AFa § gI TTqerd 7 A7 &

(a) 1% loss

(b) 1% gain

(c) 1.5% loss

(d) 1.5% gain

Q4. The profit earned by a shopkeeper by selling a bucket at a gain of 8% is Rs. 28 more then when
he sells it at a loss of 8%. The cost price (in Rupees) of the bucket is

TS THRI GIRT T qTeT I 8% F ATH U 9 T IH 8% il FIA X =94 & 28 T ATF sifoiq grar €. ar

T T o e (T § ) 779 Fiford?

(a) 170

(b) 190 addazy
(c) 175 la:z
(d) 165 &, & publications

RRB ALP
STAGE-II PART B

Q5. A Man bought 500 meters of electric wire at 50 paise per
meter he sold 50% part at the profit of 5%, at what % profit
he sold remaining as to gain 10% on the whole transaction?
T 3T 500 Hiex fasreft Fir e 50 1 7y HerfHr w I gy,
TE 50% W FT 5% ¥ AT 0 37 347 8, WA K 10% g | MWATHEMATICS TOPIC WISE

FT ¥ AT, TR A0 HY B Yo AT T AAT AR E-BOOKS
(a) 13%
8:))) 11 5202 % 200+ MCQ for Mathematics
(d) 20%
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Q6. A bookseller allowed 10% discount on the printed price. He gets 30% commission from the
publisher. His profit in percent will be

T fahaTe fEsRaT A To7 1= 10% $Y T2 a7 §. SN THF T 30% FT FHIL ITH AT 8. AT A SHT Tfaa
ghTT?

(a) 20

(b) 28(4/7)

(c) 25

(d) 283/7

Q7. A dealer is selling an article at a discount of 5% on the marked price. If the market price is 12%
above the cost price and the article was sold for Rs. 532 then the cost price is (in Rs.)

T AL T T Fl S Thd ToF T 5% F a1 99qT 8. TT Sifhad TT 7T [T q 12% AT ¢ SR aeq F 532 %
I 9T ATAT g 1 77 T ¢ (T3 H):

(a) 500

(b) 525

(c) 505

(d) 520

Q8. A shopkeeper increases the price of an object by 40% and then sells it at 25% discount on the
marked price. If the selling price of such an object be Rs. 2100, its cost price for the shopkeeper
was?

T THMIR T 6 F ToF 7 40% 7 Fieg F3ar § o< I sifFa go7 1% 25% T ¥ 9T A9 a7 5. I T a5
T Fas T g7 2100 % § IV ITHT T GoI THIFIIL & oI T 9T1?

(a) 3000

(b) 1500

(c) 1750

(d) 2000

Q9. By what fraction selling price (S.P.) must be multiplied to get the cost price (C.P.) if the loss is
20%?

i g 20% & I e o faser o 3 Fovaw et Y s o & <pomT R st =R

(a) 4/5

(b) 8/5

(c)5/4

(d) 6/5

Q10. Ramesh sold a book at a loss of 30%. If he has sold it for Rs. 140 more, he would have made a
profit of 40%. The cost price of the book is

THI TH AT T 30% Fit FI I 99T 8. TR a8 140 T ST & 9=aT § AT S 40% FT A7 ZT, Fovamar &7
WW%

(a) Rs. 280

(b) Rs. 200

(c) Rs. 260

(d) Rs. 300
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Q11. Which value among 35, V6, Y12, V276 is the largest?
V5, V6, 12, '3/276 7 98 31 TEAT Shid AT 57

(a) V5

(b) V6

(9 V12

(d) V276

Q12. A piece of work was finished by A, B and C together. A and B together finished 60% of the work
and B and C together finished 70% of the work. Who among the three is most efficient?

A, B 3T C g1 s X T& &4 foRaT ST1aT 8. A 3 B e #2 60% F1 97 #3d § 3iX B 3fiX C 41 70%
7 T w2, A E T e e A

(@A

(b) B

() C

(dJAorB/ATTB

Q13. Three solid spheres of radius 3 cm, 4 cm and 5 cm are melted and recasted into a solid sphere.
What will be the percentage decrease in the surface area?

A 3 Mrarere ot Bsar 3 A, 4 9T i 5 3+ § faremer STar € oK U 319 81 ® 19 991 91 8. 98
&= ¥ fhaw afadera et grfr?

(a) 12

(b) 14

(c)16

(d) 28

Q14. The marked price of a sofa set is Rs 4800 which is sold at Rs 3672 at two successive discounts.
If the first discount is 10%, then what will be the second discount (in %)?

Hith 82 &7 fAfead o9 4800 T § ST &I TR Ge X 3672 €Y I 94T ATAT §. e Igeit ge 10% g, ar
T FE (% H) F A

(a) 13

(b) 14

(c) 15

(d)17

Q15. A, B and C invested amounts in the ratio 3 : 4 : 5 respectively.
If the schemes offered compound interest at the rate of 20% per
annum, 15% per annum and 10% per annum respectively, then
what will be the ratio of their amounts after 1 year?

A, B #iiX C #wer: 3: 4: 5 it srqara § iy Fasr w<@ €. Ff Tisemsh +
T8d FAM: 20% TAaw ,15% wia a9 T 10% 9T a9 fl & & Thgis
SATST T=T FHAT SITAT &, AT 1 TT & AT Seeht TR T STTATT FIAT gIIT?

addazy1
& o testseries

¢ RRBALP 2018

Stage-l|
Electrical Engineering

(a)3:15 : 25 16 TOTAL TESTS
(b)6:6:5 * 10 MOCKS FOR PART 'A'
(c)36:46: 55 * 5 MOCKS FOR PART 'B' (ELECTRICAL)
(d)12:23:11 VALIDITY : 1 MONTH

3 www.bankersadda.com www.sscadda.com | www.careerpower.in |
www.adda247.com



http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

Q16. The average age of 120 members of a society is 60.7 years. By addition of 30 new members,
the average age becomes 56.3 years. What is the average age (in years) of newly joined members?
THTS % 120 TIEqT ¥ 3fraa g 60.7 99 . 30 7T TS % 14 &, 3aa sy 56.3 9 g JATAT . T [ a1
aaEqt FiT Sfeq oy (I #) T §?

(a) 36.5

(b) 37.2

(c) 383

(d) 38.7

Q17. By selling 175 pineapples, the gain is equal to the selling price of 50 pineapples. What is the
gain percentage?

175 FATATE S=HT, ATH 50 FATTE it fasht o7 & Ta g, A1 Tfaaa w17 82

(a) 28

(b) 30

(c) 32

(d) 40

Q18. If A has got 20% more marks than B, then by what percent marks of B are less than the marks
of A?

I A T B & 20% T8 3 ITH B1q 5, AT B ¥ 3% A F 3(F & farqe afdera w7 &7

(a) 16.66

(b) 20

(c) 33.33

(d) 14.28

Q19. A train leaves Delhi at 10 a.m. and reaches Jaipur at 4 p.m. on same day. Another train leaves
Jaipur at 12 p.m. and reaches Delhi at 5 p.m. on same day. What is the time of day (approximately)
when the two trains will meet?

T o1 goag 10 o faeeft & Raerdt g 3 St e o 4 397 SR w8+ STt 8. T8 o 9@ 12 a9 SR
q et i ST fae et 5 1 foeelt o= STt B, o & e @ (o) et 2 fAeift 2

(a) 1:42 p.m.

(b) 1:27 p.m.

(c) 2:04 p.m.

(d) 1:49 p.m.

Q20. The difference between the compound interest compounding half yearly for 1 year and the
simple interest for 1 year on a certain sum of money lent out at 8% per annum is Rs 64. What is the
sum (in Rs)?

T AT Tfr 7 8% wia a¥ fit s W w& au # wiH e Arfeias S Thafs sa ik tw aw & forg
THT SATST & Hed T ¥ 64 FIT . I (T9F ®) FT 82

(a) 40000

(b) 42000

(c) 44000

(d) 44800
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Q21' fta.nEl+cotEl

IF el =2, (06 < 90°)

then the value of sin 8 is

afy B0 teot® 5 (08903,

*ta.nEl—cntEl
A1 sin O = a= w27

m‘llMI

(a) ¥

(b) 2
1

(©) 2
@1

]

=
[1%]

Q22.If cos x + cos y = 2, the value of sin X + siny is
1Tﬁ'cosx+cosy=2 %,Eﬁ'sinx+siny7=ﬁTﬂTFfW§?
(@) o

(b)1

(c) 2

(d)-1

Q23. In a factory 60% of the workers are above 30 years and of these 75% are males and the rest
are females. If there are 1350 male workers above 30 years, the total number of workers in the
factory is

T H@ § HS F 60% it Y 30 a8 F ATYF F TAT T80 § 75% T2 g ;< qQw #wfgend 31 afs 1350
=Y gt ®t o 30 a9 & A8 g, a1 @ § FfHH i T G€4T &

(a) 3000

(b) 2000

(c) 1800

(d) 1500

Q24.1fx? + y? + z° = 14 and Xy + yz + zx = 11, then the value of (x +y + z)? is
TR x2+y2 +22 =14 T xy + yz + zx = 11 §, AT (X + y + z) FT {F 47

1 &d Eagflsaefi:;

(a) 16 —

(b) 25 {‘B’; RRB ALP 2018
(c) 36 s Stage-ll

(d) 49 Electronics Engineering
Q25. A thief is noticed by a policeman from a distance of 200 m. 15 TOTAL TESTS

the thief starts running and the policeman chases him. The thief BRI K& IGN
and the policeman run at the rate of 10 km/hr and 11 km/hr
respectively. What is the distance between them after 6 minutes?

* 5 MOCKS FOR PART 'B' (ELECTRICAL)
VALIDITY : 1 MONTH
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T Il TR T T AT 200 HY 6 g8 & @7 1T g1 FIE ST L& FLAT g S el SaehT Tram F Lt
g1 T i qierrsHt e 10 et /ser six 11 fft/=er ff & S €)1 6 fAme are s°% fiw fir & 79
i

(a) 100 m/ 100 #t

(b) 190 m/ 190 |t

(c) 200 m/ 200 HT

(d) 150 m/ 150 |t

8 V1—-sin® ,
Q26. If tan 6 = —, the value of JiTsm®
_8 V1—sin@
@0 =T e A7

() 1/5

(b) 2/5

(c)3/5

(d)0

Q27. A, B and C started a business by investing Rs. 24,000, Rs. 32000 and Rs. 18000 respectively. A
and B are active partners and get 15% and 12% of total profit and remaining profit is to be
distributed among them in the ratio of their investment. If C got total Rs. 65700 as a profit, what
was the total amount of profit?

A, B 3T C HH: 24,000 %, 32000 %. 3T 18000 =. FT AAT Fah TH FIOT & FQ 3| A 3 B ghHIT
TTAT § TIT T ATH FT 15% 3T 12% TTH FLAT § TAT AT ATH FHT S (AT ¥ AATT § FieT Srav gl I
C AT % €9 & T 65700 &. WTH FIAT §, AT ATH I 1 T AT o

(a) Rs. 4,70,000/4,70,000 %.

(b) Rs. 3,70,000/3,70,000 %.

(c) Rs. 3,45,000/3,45,000 ¥.

(d) Rs. 1,57,000/1,57,000 =.

Q28. The difference between CI and SI for 3 years is 992. If rate of Interest is 10%. Find the
Principal?

T a¥ * forg wwgfe saTer sl qrem<er s3rer F di= F1 ara< 992 g AR AT i I 10% g AT TAEF A1
Hifsran

(a) 22000

(b) 30000

(c) 28000

(d) 32000

Q29. Divide 27 into two parts so that 5 times the first and 11 times the second together equals to
195. Then ratio of the first and second parts is

27 F I WO A 39 T fawriora fnar siar 8 6 a@et ST &1 5 I[T 6T gEX /R &1 11 IAT, 195 F Tqe
B TE 3T GEY AT 7 AT &

(@)3:2

(b)17: 10

()2:7

(d)5:4
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Q30. A motor boat covers a certain distance downstream in a river in 3 hours. It covers the same
distance upstream in 3 and half an hour. If the speed of the water is 1.5 km/hr, then the speed of
the boat in still water is?

T HIE 1€ T T4t § G % GRS U [\ g 3 He # T AT g1 g 81 & Taghd G0 0 H7 3%
e H T FT g1 T g i i 1.5 fFfi/ser §, av ena st § A1 i i g

(a) 17 km/hr/ 17 ffi/==r

(b) 17.5 km/hr/ 17.5 fei/s=T

(c) 19.5 km/hr/ 19.5 fefi/==r

(d) 19 km/hr/ 19 fefi/==T

Q31.Iftan=A=+/2 - 1, then Find sin A cos A =
If¥tan=A=+/2 - 1,d7 sin A cos A = T HiSA
(a) vV2/4
(b) V2/6
(c) V2/3
(d) v2/5

Q32. Find the value of x in the following : sin 2x = sin 60°cos 30° - cos 60° sin 30°
Faferfee ¥ x &1 9 19 FifS3: sin 2x = sin 60°cos 30° - cos 60° sin 30°

(a) 45

(b) 30

(c) 15°

(d) 20

cosf—ginf __ 1—3

cozB+sinf  1+3

Q33. Find an acute angle 6, when

cosf—gind __ 13

cosd+siné - 1+3

EEEIREIGEINERREE]

(a) 45°
(b) 60°
(c)90°
(d) 30°
Q34. If each of a, B and vy is a positive acute angle such that sin («a addazy1i
+B+y)=1/2,cos (B+y+a)=1/2andtan (y + a- §) = 1, find the e o tost semies
value of sec (a -3 +vy)? e, RRB ALP 2 ‘I
I 74T o, B 3 y G TcHE LA 39 THIX 2 o sin (a+ B +y) = 1/2, fg}g Stage-ll 018
cos (B+y+a)=1/23Ttan (y + a - B) = 1,d¥ sec (a - B +y) FT A g
RIS DE Mechanical Engineering
(a) :// 3 15 TOTAL TESTS
(b V> « 10 MOCKS FORPART A
(@ V7 « 5MOCKS FOR PART 'B' (ELECTRICAL)
(d) V2 VALIDITY : 1 MONTH
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To° coa b5° cogec 357

Q35. Evaluate each of the following: ::2

Frafarfa w1 a7 77 e 2272 4

ain 20° tan 5°tan 25° tan 45° tan 65° tan 85°

o= tan 3°tan 25° tan 45° tan 65 tan 85"

cos 35% cozec 35°

(@1
(b) 2
(c)3
(d) 4

I an A tan an A co zin®
Q36. IfA+B=90° theth A B+tanAcotB B _

sinAsecE cost A

I
. — |tanAtanB+tan AcotB gin® B
EIié‘a.;3';+B:'GHEJ”,T.‘IT‘J - =

zin AzecB cos? A

(a) cotA
(b) tan A
(C) sin A

cos A

(d)

Q37. Find the value of (sin 8 + cosec B) + (cos 6 + sec_ﬂjz =
(sin 8 + cosec 8)? + (cos B + sec B)2 = FT ATH AT 19

(a) 7 +tan® B + cot” B
(b) 5+ tan® 8 + cot® B
(c) 3 +tan® 8 + cot B
) 2 +tan®B + cot? @

Q38. Find the value of (cosec 0 - sin 0) (sec 0 - cos 0) (tan 0 + cot 0)
(cosec 0 - sin 0) (sec 0 - cos 0) (tan 0 + cot 0) FT W T o

(a)4

(b)3

(c)2

(d)1

coe” 8 zin® B

Q39. .Find the xialue of ;

—tan & sinB—coz @

cos’® | S0 oo oy ST AT

1-tan g zinB—coz B

(a) 1 +sinBcos8
(b) 4+ sinBcosB
(c) 2 + sinBcosB
(@) 3 +sinBcosH
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, [L4cotA+tan Al sin A—coz A)
Q40. . Find the value of =
zec? A—cozec?A

= T A/ ATT Hlf=r4;

{l+cotA+tan A)(sin A—coz A)

sec® A—cosec®A

(a) sin® A cos® A
(b) sec’ Acos® A
(c) sin® Atan® A

sin® Acosec® A

(d)

Q41. By how much does (w.,'"ﬁ + w’ﬁ) exceed (E\E + 2\,@)?
(V12 +V18), (243 + 2v2) Thaar 31fEe &

(a) 2
() V3
(© V2

(d) 3

Q42. In a certain year, the average monthly income of a person was Rs. 3,400. For the first eight
months of the year, his average monthly income was Rs. 3,160 and for the last five months, it was
Rs. 4,120. His income in the eighth month of the year was

w [AfEE ot #, s =afe i shoa 7R a7 3,400 T o a9 % 9ge a1 gl & forg, S siraa a1l
AT 3,160 I <Y i <iRAw fUegd 7T & 75 4,120 T o1 a9 F sred A § I o o

(a) Rs. 3,160

(b) Rs. 5,080

(c) Rs. 15,520

(d) Rs. 5,520

Q43. The average age of 40 students of a class is 18 years. When 20 new students are admitted to
the same class, the average age of the students of the class is increased by 6 months. The average
age of newly admitted students is

T F&T F 40 et it siaa oy 18 a¥ g1 5« 20 7¢ At wur # i gra €, a1 Far & ekt
&Y it A | 6 AR it gf gidt gl A¢ fa=nfat i saa ag &

(a) 19 years/ad

(b) 19 years 6 months/ 19 a9 6 Tgi"
(c) 20 years/a™

(d) 20 years 6 months/ 20 Ti 6 Té:l%f éf RRB ALP 20 1 8

addazyt
test series

Q44. Of the three numbers, the second is twice the firstand Sta ge-' |

thrice the third. If the average of the three numbers is 44, .

the largest number is (PhYSlCS & MathS)
A TeTett & |, T, T8 FT INEAT § A AL F A AT R 25 Total Tests
fiﬁﬂ@nﬁmmﬂaﬁma@mg: 10 Mocks. (EEET

(ﬁ) 79 v~ 5 Mocks for Part 'B' (Physics & Maths)
(c) 36 v~ 10 Practice sets for Part 'B'

(d) 108 (Physics & Maths)
VALIDITY : 1 MONTH
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Q45. A cricketer had a certain average of runs for his 64 innings. In his 65 innings, he is bowled
out for no score on his part. This brings down his average by 2 runs. His new average of runs is

T fohaheT AT 64 TTRAT F forg wh s sirag @@ 81 staeit 65 & a1t #, a8 f9T W 9913 anrse g Sirat &
TG 2 T o SHHT 9d FH g1 ATAT gl Sqh T T 747 {9q 8

(a) 130

(b) 128

(c)70

(d) 68

Q46. A man completed a certain journey by a car. If he covered 30% of the distance at the speed of
20 km/hr, 60% of the distance at 40 km/hr and the remaining distance at 10 km/hr; his average
speed for the whole journey was

T Ak, TF FIE & T [ am=w aa F<ar g1 (s ag 20 GEi/Eer i afa & g #130% a3 F@18 &,
40 Tt / 52T 1T 60% T i AW T 10 B / sier 9= A fanar 1 §; T JmT & forg Saeht st e oft
(a) 25 km/hr/fFH1/=eT
(b) 28 km/hr/ FeH1/=eT
(¢) 30 km/hr/ Fei/=eT
(d) 33 km/hr/ FRHT/=eT

Q47. The time duration of 1 hour 45 minutes is what percent of a day?
1 %52 45 foee f g97 sty us R &7 fraer wiaea @2

(a) 7.218

(b) 7.291

(c) 8.3

(d) 8.24

Q48. In an examination, 35% of the candidates failed in Mathematics and 25% in English. If 10%
failed in both Mathematics and English, then how much percent passed in both the subjects?

T T |, STl T 35% STl &f Sirav g i Siusft # 25%) i wiorq s sl 41 & 10% sr=iof
B, A AT Ay # fhaw wider s<fief g €2

adda 2y
g?) gg & & publications
(c) 57
()60 RRB ALP

STAGE-II PART B

Q49.1f2/3 0f A=75% of B=0.6 of C,then A:B: Cis
IR AF2/3=BF75% =CHFT 0.6, A:B:C¥T:

(@2:3:3 PHYSICS TOPIC WISE
(b)3:4:5 )
(€)4:5:6 E-BOOKS

(d)9:8:10
300+ MCQ for Physics
Q50. Each side of a rectangular field is diminished by 40%. By
how much percent is the area of the field diminished?
STAATRIT RS it TAF TT H 40% HY FHT g |1 A T &Rl [FaqT TIAqd FH g0 57
(a) 32

(b) 64

(c) 25

(d) 16
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